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1. The government budget constraint is its tax revenues.  If its expenditures exceed tax revenues it will have a deficit.  It has sell securities to finance the deficit.  This makes the budget deficit constraint equal to the additional amount of securities the public (banks and non-bank) will buy and the additional amount of securities the Fed will buy.  Therefore, the budget deficit increases the monetary base only if the Fed increases its holdings of Treasury securities in response to the deficit.





2. The Fed's largest asset is its security holdings; its largest liability is Federal Reserve Notes outstanding.





3.  If the central bank is not independent, it is likely to monetize the debt, causing inflation.  If the central bank is independent, it will not monetize the debt, and inflation may be low even if deficits are high.





4. The fact that the Fed does not control all the elements of the monetary base does not imply that the Fed cannot determine the size of the monetary base.  It can use the elements it can control to offset changes in the elements it cannot control.





5.	A good intermediate target should affect goal variables in a predictable manner, be indirectly controllable by the Fed, and be measurable more often than the goal variables.





6.	A zero unemployment rate isn’t attainable because some frictional unemployment always occurs in the process of job search and matching.





7.	The use of operating targets allows for quicker response if the intermediate target is being missed.





8.	When the economy expanded, putting upward pressure on interest rates, the Fed had to expand the money supply to try to keep interest rates low.  This action in turn put upward pressure on inflation.





9.	The Fed targeted non-borrowed reserves, allowing the federal funds rate to vary more.  The lack of increased monetary control was the result of financial deregulation, which led to financial innovation and more competition among banks to raise funds.  This was combined with a recession and, later, credit controls.  Thus, the endogenous determinant of the money supply varied erratically.





10.	The usefulness of commodity prices as an intermediate target is limited because they are not sufficiently related to inflation.





11.	The choice of an operating target must match the choice of an intermediate target for controllability.





12. In this case, 4% (10/250) of the deficit is monetized.





13. The monetary base will not necessarily grow by less than it would without the deal because the Fed may not let the size of the deficit affect monetary policy.  Thus, it may inject sufficient reserves to keep the monetary base constant.





14. Federal Reserve float equals $2 billion.  The Fed loses interest on float because it has to sell securities to offset it.  Accordingly, if Federal Reserve float were reduced, the Fed would hold more securities, earning more interest from the Treasury.





15. There is no change in the monetary base (this is called a "sterilized intervention"):  The Fed has $100 million more of foreign-exchange reserves and $100 million less of securities.





16. The rise in the deficit tends to raise interest rates.  To stabilize interest rates, the Fed must increase the monetary base, thereby monetizing the debt.





17.	Tools:  (d) and (i); operating targets:  (b), (e), and (f); intermediate targets:  (a) and (g); goal variables: (c) and (h).





18.	The economic expansion puts upward pressure on interest rates; to keep interest rates fixed, the Fed uses expansionary policy, so the economy grows even faster.  A possible change would be to adjust targets to conditions--if there is no evidence of a change in economic strength, a rise in interest rates means an increased money demand, which makes sense to accommodate with increased money supply; but if there is evidence that the economy is stronger, a rise in interest rates should be met with a rise in the target interest rate to avoid procyclical policy.





The simple rule would be valid when the relationship of M2 with goal variables such as real output growth and inflation is stable and predictable.  Problems arise when the relationship is affected by other events; then the growth rate of M2 may need to change over time.





When money demand changes, with reserves fixed, interest rates change.  While the exogenous part of the money supply doesn’t change because the Fed. does not have to act, the endogenous part of the money supply changes in response to the change in interest rates.  The endogenous change in the money supply is seen in the change in the multiplier.  Thus, the multiplier changes with changes in the interest rate.





21. Yes; the Fed moves the supply curve to intersect the demand curve at a fixed


 federal funds rate.


